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B.Com. DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Fourth Semester 

Commerce 

ADVANCED ACCOUNTANCY – IV 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

2. What do you mean by notional profit? 

 ¦»ÚõPõ »õ£® GßÓõÀ GßÚ? 

3. What do you mean by royalty? 

 E›ø©z öuõøP GßÓõÀ GßÚ? 

4. State any two importance of minimum rent. 

 SøÓ¢u£m\ ÁõhøPUS H÷uÝ® Cμsk •UQ¯zxÁzøu 
TÖ. 

5. What do you understand by hire purchase system? 

 ÁõhøP öPõÒ•uÀ •øÓ¨ £ØÔ }Âº AÔÁx ¯õx? 

6. What is hire purchase trading account? 

 öPõÒ•uÀ ÁºzuP PnUS GßÓõÀ GßÚ? 
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7. What is deficiency account? 

 £ØÓõUSøÓ PnUS GßÓõÀ GßÚ? 

8. Who is an insolvent? 

 ö|õi¨¦ {ø»²ØÓÁº Gß£Áº ¯õº? 

9. State any two objectives of departmental accounting. 

 xøÓ\õº PnUQ¯¼ß H÷uÝ® Cμsk ÷|õUP[PøÍz u¸P. 

10. What do you understand by inter-departmental 
transfers? 

EÒ xøÓ\õº ©õØÓ® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write the concepts of Retention money.  

   uUP øÁzxUöPõÒÐ® öμõUPzvß P¸zxUPøÍ 
GÊxP. 

Or 

 (b) Explain the treatment of expenses in contract 
account. 

   J¨£¢u PnUQ¯¼À ö\»ÄPøÍU øP¯õÐ® 
•øÓ°øÚ ÂÍUSP. 

12. (a) The Bihar coal company Ltd. are lessee of mine on a 
royalty of 50 paise per tonne of coal raised, with a 
minimum rent of Rs. 30,000 pa and power to recoup 
shortworking during the first five years of the lease. 
The output for the first three years was as follows : 

   2017                15,000 tonnes 

          2018                50,000 tonnes 

          2019                75,000 tonnes 

   Draw the necessary journal entries in the books of 
the company giving effect to the above. 
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   ¥Põº {»UP› {ÖÁÚ® J¸ hß {»UP›US 50 ø£\õ 

E›ø©z öuõøP°À _μ[PzvÀ SzuøPuõμμõP EÒÍx, 

SøÓ¢u AÍÄ ÁõhøP¯õP BsiØS  

¹. 30,000 ©ØÖ® SøÓ EØ£zvø¯ SzuøP°ß •uÀ 

I¢x BskPÎÀ \›ö\´xU öPõÒÁuõS®. 

   •uÀ ‰ßÖ BskPÐUPõÚ EØ£zv ¤ßÁ¸©õÖ. 

   2017                15,000 hßPÒ 

          2018                50,000 hßPÒ 

          2019                75,000 hßPÒ 

  ÷©ØPshÁØøÓ |øh•øÓ¨£kzx® {ÖÁÚzvß 

¦zuP[PÎÀ ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍz 

u¸P. 

Or 

 (b) The omega coal company are lessor of mine on a 

royalty of Rs. 1 per ton of coal raised with a 

minimum rent of Rs. 80,000 per annum with right 

to recoup short workings during the first five years 

of the lease. The output for the first five years was 

as under. 

   2015             16,000 tons. 

        2016             40,000 tons. 

        2017             80,000 tons. 

        2018             1,00,000 tons. 

        2019             1,20,000 tons. 

   Give necessary ledger accounts.  
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   J÷©Põ {»UP› {ÖÁÚ® J¸ hß {»UP›US ¹. 1 
Ãu® E›ø©z öuõøP°À _μ[PzvÀ SzuøPuõμμõP 
EÒÍx, SøÓ¢u AÍÄ ÁõhøP¯õP BsiØS  

¹. 80,000 ©ØÖ® SøÓ EØ£zvø¯ SzuøP°ß •uÀ 
I¢x BskPÎÀ \›ö\´xU öPõÒÁuõS®. 

    •uÀ I¢x BskPÐUPõÚ EØ£zv ¤ßÁ¸©õÖ. 

   2015             16,000 hßPÒ 

        2016             40,000 hßPÒ 

        2017             80,000 hßPÒ 

        2018             1,00,000 hßPÒ 

        2019             1,20,000 hßPÒ 

  ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍz u¸P. 

13. (a) Kumar purchased a car from Mani whose cash price 
is Rs. 56,000 on January 1,2017, Rs. 15,000 is to be 
paid on signing the contract and the balance is to be 
paid in three equal installments of Rs. 15,000 each. 
The rate of interest is 5% pa. Calculate the amount 
of interest. 

   áÚÁ› 1, 2017 AßÖ S©õº ©o°hª¸¢x J¸ 

©QÊ¢øu Áõ[QÚõº, Auß Âø» ¹. 56,000,  
¹. 15,000 J¨£¢uzvÀ øPö¯Êzvk® ÷|μzvÀ 

ö\¾zu¨£mhx. «u•ÒÍ öuõøP ¹. 15,000 ‰ßÖ \© 
uÁønPÎÀ ö\¾zu¨£mhx. Ámi ÂQu® BskUS 

5% Ámiz öuõøP°øÚU PnUQkP. 

Or 

 (b) Sekar printers purchased from Tata Ltd, a 
machinery on 1.1.2017 on hire purchase system. 
Cash price of machinery was Rs. 74,500. The price 
was to be paid Rs. 20,000 down and the balance in 3 
equal instalments of Rs. 20,000 commencing from 
31.12.2017 at 5% interest per annum. Prepare 
Vendor Account in the books of Buyer. 
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   ÷\Pº Aa_¨ö£õÔPÒ, hõhõ ¼ªöhmi¼¸¢x 

1.1.2017 AßÖ ÁõhøP öPõÒ•uÀ •øÓ°À öμõUP 

Âø» ¹. 74,500 US J¸ C¯¢vμzøu Áõ[Q¯x. •ß 

£n® ¹. 20,000, 31.12.2017 •uÀ 3 \© uÁønPÎÀ 

¹. 20,000 BskUS, 5% Ámi²hß ö\¾zu¨£mhx. 
Áõ[S£Á›ß ¦zuP[PÎÀ ÂØ£øÚ¯õÍº PnUøPz 
u¯õ›UP. 

14. (a) Prepare the specimen of Deficiency Account  

(List H). 

   SøÓ£õk PnUQß ©õv›ø¯z u¯õ› (£mi¯À H) 

Or 

 (b) Prepare the specimen of Statement of affairs in 

insolvency accounts. 

   vÁõ»õÚ PnUSPÎÀ {ø» AÔUøP°ß ©õv›ø¯z 

u¯õ›. 

15. (a) From the following particulars prepare branch 

account. 

 Rs. 

Goods sent to branch              75,000

Cash sales at the branch            50,000

Credit sales at the branch         60,000

Salaries of branch staff paid by head office          15,000

Office expenses of branch paid by head office      12,000

Cash remittances to branch towards petty cash  6,000

Petty cash at branch on 31.12.19     500

Debtors of branch as on 31.12.19     5,000

Stock at the branch on 31.12.19    27,000
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         ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x QøÍU PnUøPz u¯õ›. 

 ¹. 

QøÍUS AÝ¨£¨£mh ö£õ¸mPÒ 75,000
QøÍ°À öμõUP ÂØ£øÚ 50,000
QøÍ°À Phß ÂØ£øÚ 60,000
uø»ø© A¾Á»P® ‰»® QøÍ FÈ¯ºPÎß \®£Í® 
ÁÇ[P¨£mhx 

15,000

uø»ø© A¾Á»P® ‰»® QøÍ A¾Á»P ö\»ÄPÒ      12,000
QøÍUS ]À»øÓ öμõUP® ÁÇ[P¨£mhx 6,000

31.12.19 AßÖ QøÍ°À ]À»øÓ öμõUP®  500

31.12.19 ÷uv°ß£i QøÍ°ß PhÚõÎPÒ  5,000

31.12.19 AßÖ QøÍ°ß \μUS  27,000

Or 

 (b) From the following particulars prepare Madurai 
Branch account for the year ended 31.12.2019. 

 Rs. 

Goods sent to Branch                    2,15,000

Cash sent to Branch for expenses  76,000

Cash received from the Branch      3,24,000

Branch stock on 31.12.2019            32,300

Branch petty cash on 31.12.2019   1,040

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.12.2019 Ehß 
•iÁøh¢u BsiØPõÚ ©xøμ QøÍU PnUøPz 
u¯õ›UP. 

 ¹. 

QøÍUS AÝ¨£¨£mh ö£õ¸mPÒ 2,15,000

ö\»ÄPÐUPõP QøÍUS AÝ¨£¨£mh öμõUP® 76,000

QøÍ°¼¸¢x ö£Ó¨£mh öμõUP® 3,24,000

31.12.2019 AßÖ QøÍ \μUSPÒ                32,300

31.12.2019 AßÖ QøÍ ]À»øÓ öμõUP®            1,040
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. A firm of builders, carrying out large contracts kept in a 

contract ledger separate accounts for each contract. The 

following particulars relate to a certain contract carried 

out during the year ended 30th June. 

 Rs. 

Work certified by architects               71,500

Cash received from the contractee     65,000

Materials sent to site                        32,250

Labour engaged on site                       27,400

Plant installed at site                         5,650

Value of plant at 30th June (closing)  4,100

Cost of work not yet certified             1,700

Establishment charges                       1,625

Direct expenditures                            1,200

Wages accrued due                              900

Materials, closing balance                  700

Materials returned to store                200

Direct expenses accrued due              100

Contract price                                1,00,000

 You are required to prepare an account, showing the 

profit on the contract to 30th June. 
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J¸ ö£›¯ Pmih {Ö©®, ö£›¯ AÍÂ»õÚ J¨£¢u[PøÍ 
uÛuÛ ÷£÷μmkU PnUSÎÀ ÷©ØöPõskÒÍx. ¤ßÁ¸® 

ÂÁμ[PÒ áúß 30À •iÄÖ® BsiØPõÚ J¸ J¨£¢u® 
öuõhº¦øh¯uõS®. 

 ¹. 

Pmih {¦nºPÍõÀ \õßÓÎUP¨£mh ÷Áø»°À AÍÄ 71,500
J¨£¢uuõμ›hª¸¢x ö£Ó¨£mh öμõUP® 65,000
£o°hzvØS AÝ¨£¨£mh \μUQß ©v¨¦ 32,250
£o°hzvÀ £o¦›÷Áõº ©v¨¦ 27,400
£o°hzvÀ {ÖÁ¨£mh uÍÁõh[PÒ 5,650
áúß 30 |õÍßøÓ uÍÁõh[PÎß ©v¨¦ (CÖv ©v¨¦) 4,100
\õßÓÎUP¨£hõu £o°À ©v¨¦ 1,700
{ÖÄu¾UPõÚ ö\»ÄPÒ 1,625
÷|μia ö\»ÄPÒ 1,200
öPõk£h ÷Ási¯ T¼ 900
\μUSPÎß CÖv ©v¨¦ 700
£shP\õø»US v¸¨¤ AÝ¨£¨£mh \μUSPÒ 200
÷|μi ö\»ÄPÒ öPõk£h ÷Ási¯x 100
J¨£¢u Âø» 1,00,000

 30 áúß |õÍßøÓ¯ J¨£¢u® «uõÚ C»õ£zøu Põmk® 

PnUS JßøÓ u¯õº ö\´¯ }Âº ÷Põμ¨£kQÕº. 

17. Write short notes on the following : 

 (a) Royalties' receivable 

 (b) Sub-lessee 

 (c) Minimum rent. 

 ]Ö SÔ¨¦z u¸P. 

 (A) ö£Ó÷Ási¯ E›ø©z öuõøP 

 (B) xøn SzuøPuõμº 

 (C) SøÓ¢u AÍÄ ÁõhøP 
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18. X Purchased a Van from Y costing Rs. 3,00,000 on Hire 
purchase system. Payment was to be made Rs. 60,000 
down and the balance in three equal annual installments 
together with interest at 5% pa. X provides depreciation 
at 20% pa. on diminishing balance basis. X paid in first 
instalment at the end of first year. But could not pay the 
rest Y took possession of the Van. He spends Rs. 11,600 
on the Van and sold it for Rs. 2,00,000. Prepare ledger 
accounts in the book of Y. 

X J¸ ÷ÁøÚ Y Chª¸¢x ¹. 3,00,000 US ÁõhøP 
öPõÒ•uÀ •øÓ°À Áõ[SQÓõß. •ß £n® ¹. 60,000 
ö\¾zu¨£mhx. «u•ÒÍ öuõøP ‰ßÖ \© Á¸hõ¢vμ 
uÁønPÎÀ BskUS 5% Ámi°À ö\¾zu¨£mhx.  
X ÷u´©õÚzøu BskUS 20% SøÓ¢x Á¸® C¸¨¦ 
Ai¨£øh°À PnUQmhõº. X •uÀ Bsiß CÖv°À 
•uÀ uÁønø¯ ö\¾zvÚõº. BÚõÀ «u•ÒÍ öuõøPø¯ 
ö\¾zu uÁÔ¯uõÀ Y ÷ÁøÚU øP¨£ØÔÚõº. AÁº ¹. 
11,600 AÁº ö\»ÂkQÓõº ©ØÖ® ¹. 2,00,000 US Aøu 
ÂØÓõº. Y ¦zuPzvÀ ÷£÷μmkU PnUSPøÍz u¯õ›UP. 

19. The assets of a merchant on 30th June 2019 as shown by 
his books were Rs.56,000 and his liabilities Rs.44,000. He 
filed his petition in the insolvency court and estimated 
his deficiency to be Rs.30,000. After making the above 
estimate he found that the following items were not 
passed through his account book : 

 Interest at 6% on his capital from January 2019. 

 A contingent liability of Rs.2,500 on bills discounted by 
him for Rs. 10,000. 

 Rs.

Amount due as wages  300

Salaries                         700

Rent 300

Rates and taxes 200

 Prepare his statement of affairs and deficiency account. 
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 J¸ ÁoP›ß ö\õzxUPÒ áúß 30, 2019 AßÖ AÁμx 

¦zuP[PÎÀ ¹. 56,000 ©ØÖ® AÁμx PhßPÒ ¹. 44,000. 
Põmh¨£mhx AÁº uÚx ©ÝøÁ ö|õizx¨ ÷£õÚ 
ÁÇUSPøÍU øP¯õÐ® }v©ßÓzvÀ uõUPÀ ö\´uõº 

÷©¾® AÁμx £ØÓõUSøÓ ¹. 30,000 GÚ ©v¨¤mhõº. 
÷©ØPsh ©v¨¥møha ö\´u ¤ß, ¤ßÁ¸® PnUSUPÒ 
AÁμx PnUS ¦zuPzvÀ £v¯¨£hÂÀø» Gß£øuU 
PshÔ¢uõº.  

 áÚÁ› 2019 •uÀ AÁμx •uÀ «uõÚ Ámi 6%. 

 AÁº ¹. 10,000 US uÒÐ£i ö\´u Esi¯ÀPÎÀ  

¹. 2,500 J¸ EÖva ö\´¯¨£hõu ö£õÖ¨£õS®. 

 ¹. 

öPõk£h ÷Ási¯ T¼ 300
\®£Í® 700
ÁõhøP 300
Á› ©ØÖ® ÂQu[PÒ 200

20. ‘A’ Ltd. purchase goods for its three departments as 
follows : 

 Dept. A   1000 units                                                                

 Dept. B   2000 units     at a total cost of Rs. 1,00,000 

 Dept. C   2400 units 

 Sales: 

 Dept. A 1020 units at Rs. 20 each 

 Dept. B 1920 units at Rs. 22.50 each 

 Dept. C 2496 units at Rs. 25 each 

 Opening stock: 

 Dept. A    120 units 

 Dept. B   80 units 

 Dept. C   152 units 

 The rate of loss profit is the same in each case. 

 Prepare Departmental Trading Account.  



F–4807 

  

  11

 H ¼ªöhm Auß ‰ßÖ xøÓPÐUS ¤ßÁ¸©õÖ 
ö£õ¸mPøÍ Áõ[SQÓx. 

 xøÓ H   1000 A»SPÒ                                                                

 xøÓ ¤   2000 A»SPÒ  (ö©õzu® ¹. 1,00,000 ö\»ÂÀ) 

 xøÓ ]   2400 A»SPÒ 

 ÂØ£øÚ : 

 xøÓ H 1020 A»SPÒ ¹. u»õ 20  

 xøÓ ¤ 1920 A»SPÒ ¹. u»õ 22.50  

 xøÓ ] 2496 A»SPÒ ¹. u»õ 25  

 öuõhUP \μUS : 

 xøÓ H    120 A»SPÒ 

 xøÓ ¤   80 A»SPÒ 

 xøÓ ]   152 A»SPÒ 

 ö©õzu »õ£ ÂQu® JÆöÁõ¸ xøÓ°¾® J÷μ 
©õv›¯õÚx. xøÓ\õº ÁºzuP PnUøPz u¯õ›UP. 

 
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Fourth Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is MBO? 

 ÷|õUP Ai¨£øh ÷©»õsø© GßÓõÀ GßÚ? 

2. Define ‘Planning’. 

 ‘vmhªkuÀ’ – ÁøμÂ»UPn® u¸P. 

3. What are the three levels of management? 

 ÷©»õsø©°ß ‰ßÖ {ø»PÒ ¯õøÁ? 

4. What is division of labour? 

 EøÇ¨¦ £QºÄ GßÓõÀ GßÚ? 

5. Write short notes on delegation of authority. 

 AvPõμ ¤μv{vzxÁ® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Sub. Code 
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6. State any two needs for departmentation. 

 xøÓÁõÔ ¤›zu¼ß H÷uÝ® Cμsk AÁ]¯[PøÍ 
SÔ¨¤kP. 

7. State any two characteristics of directing. 

 C¯USu¼À H÷uÝ® Cμsk ußø©PøÍ TÖP. 

8. Define ‘Communication’. 

 uPÁÀ öuõhº¤ß ÁøμÂ»UPn® u¸P. 

9. What is meant by grapevine communication? 

 øP©õØÔa ö\´v¨ £μ¨¦® •øÓ GßÓõÀ GßÚ? 

10. Define ‘Controlling’. 

 Pmk£kzxuÀ ÁøμÂ»UPn® u¸P. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the importance of management. 

  ÷©»õsø©°ß •UQ¯zxÁzøu SÔ¨¤kP. 

Or 

 (b) Explain the important aspects of scientific 
management. 

  AÔÂ¯À \õº¢u ÷©»õsø© PõμoPøÍ ÂÍUSP. 

12. (a) What are the advantages of planning? 

  vmhªku¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Bring out the problems of decision making. 

  •iöÁkzu¼ß ¤μa]øÚPøÍ TÖP. 
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13. (a) What are the objectives of organising? 

  Aø©¨¤ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) List out the external sources of recruitment. 

  {ÖÁÚzvØS ¦Ó®£õÚ £o¯õÍº {¯©Ú 
Buõμ[PøÍ £mi¯¼kP. 

14. (a) Examine the Herzberg’s two factors theory. 

  öíUìö£ºUQß Cμmøh Põμo ÷Põm£õmøh B´P. 

Or 

 (b) Discuss the principles of directing. 

  C¯USu¼ß öPõÒøPPøÍ ÂÁ›. 

15. (a) Explain the need for communication. 

  uPÁÀ öuõhº¤ß AÁ]¯zøu ÂÍUSP. 

Or 

 (b) What is MBE? Discuss the advantages of MBE. 

  ÂvÂ»US ÷©»õsø© GßÓõÀ GßÚ? Auß 
|ßø©PøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the principles of management? 

 Aø©¨¦ ÷Põm£õkPÒ ¯õøÁ? 

17. Discuss the steps involved in planning. 

 vmhªku¼ß £i{ø»PøÍ ÂÁ›. 



F–4804 

  

  4

18. Analyse the benefits and disadvantages of 
‘Decentralisation’. 

AvPõμ £μÁ¼ß |ßø© wø©PøÍ B´Ä ö\´P.  

19. Explain the principles of effective communication. 

]Ó¢u uPÁÀ öuõhº¦UPõÚ ÷Põm£õkPøÍ ÂÍUSP. 

20. What are the measures to overcome communication 
barriers? 

uPÁÀ öuõhº¦ uøhPøÍ •Ô¯iUS® |hÁiUøPPøÍ 
ÂÁ›. 

 

—————— 
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B.Com. DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Fourth Semester 

Commerce 

BANKING LAW AND PRACTICE  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is a customer? 

 ÁõiUøP¯õÍº Gß£Áº ¯õº? 

2. What is a commercial bank? 

 ÁoP Á[Q GßÓõÀ GßÚ? 

3. What is Bank Charges? 

 Á[Q Pmhn[PÒ GßÓõÀ GßÚ? 

4. What do you mean by Fixed Deposit? 

 {ø» øÁ¨¦ Gß£uß ö£õ¸Ò GßÚ? 

5. Who are called by minor? 

 CÍÁº Gß£Áº ¯õº? 

Sub. Code 
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6. What is double crossing? 

 Cμmøh RÓ¼hÀ GßÓõÀ GßÚ? 

7. What is payment in due course? 

 •øÓ¨£i ö\¾zxuÀ GßÓõÀ GßÚ? 

8. What is a material alteration? 

 Ai¨£øh¯õÚ ©õØÓ® GßÓõÀ GßÚ? 

9. What is Traveller’s Cheque? 

 £¯Úº Põ÷\õø» GßÓõÀ GßÚ? 

10. What is Letter of Credit? 

 Phß \õßÖ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the rights of bank customer? 

  Á[Q ÁõiUøP¯õÍ›ß E›ø©PÒ ¯õøÁ? 

Or 

 (b) List out the duties of banker. 

  Á[Q¯õÍ›ß Phø©PøÍ Á›ø\¨£kzxP.  

12. (a) Distinguish between savings bank account and 
current account. 

  ÷\ª¨¦ PnUS ©ØÖ® |h¨¦ PnUS CÆÂμsøh²® 
÷ÁÖ£kzxP.  

Or 

 (b) What are the salient features of fixed deposit? 

  {ø» øÁ¨¦ μ^vß ]Ó¨¦ ußø©PÒ ¯õøÁ? 
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13. (a) Explain the essentials of Material Alteration. 

  Ai¨£øh¯õÚ ©õØÓzvß {£¢uøÚPøÍ ÂÁ›.  

Or 

 (b) What do you know about proper drawing of a 
cheque? 

  Põ÷\õø»ø¯ •øÓ¯õP ÁøμuÀ £ØÔ }Âº AÔÁx 
¯õx? 

14. (a) What are the significances of endorsement? 

  ÷©ö»Êxu¼ß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) Explain the Statutory Protections to the paying 
banker. 

  ÁÇ[S® Á[Q¯¸USa \mh® AÎUS® £õxPõ¨¦ 
£ØÔ ÂÁ›.  

15. (a) What are the duties of the collecting banker as an 
Agent? 

  •PÁμõP Á`¼US® Á[Q¯›ß Phø©PÒ ¯õøÁ? 

Or 

 (b) What are the features of a credit card? 

  Phß Amøh°ß ußø©PÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the primary relationship between a banker and 
customer. 

 Á[Q¯¸US®, ÁõiUøP¯õÍ¸US®ªøh÷¯ EÒÍ 
•ußø©¯õÚ EÖ¨¦PÒ £ØÔ ÂÍUSP. 
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17. Explain the precautions to be taken by the banker 
opening an account. 

 PnUSz öuõh[S•ß Á[Q¯º GkUP ÷Ási¯ 
•ßöÚa\›UøP |hÁiUøPPÒ ÂÁ›.  

18. Discuss the salient features of a cheque. 

 Põ÷\õø»°ß ]Ó¨¤¯À¦PøÍ ÂÁ›.  

19. Explain the circumstance in which the paying banker 
should refuse payment. 

 ÁÇ[S® Á[Q¯º Põ÷\õø»US £n® ©ÖUPUTi¯ 
\¢uº¨£[PøÍ ÂÁ›.  

20. Explain the statutory protection available to a collecting 
banker. 

 Á`¼US® Á[Q¯¸USU QøhUP¨£k® \mh §ºÁ 
£õxPõ¨¤øÚ ÂÍUSP. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define normal rate. 

 C¯À¦ Ãuzøu Áøμ¯Ö. 

2. A man bought a cycle for Rs. 250. For how much should 

he sell it so as to gain 10%. 

 J¸ ©Ûuß ¹. 250US J¸ ªvÁsi°øÚ Áõ[Q  

10 \uÃu C»õ£zxhß GÆÁÍÄ öuõøPUS ÂØP ÷Ásk®. 

3. What is the different between logarithm and exponential. 

 ©hUøPUS® AkUSÔUS©õÚ ÷ÁÖ£õkPÒ ¯õøÁ? 

4. Find the value of cba acb logloglog . 

 cba acb logloglog –ß ©v¨ø£ PõsP. 

5. When a subset is said to be proper subset? 

 G¨ö£õÊx J¸ EmPn©õÚx uS EmPn©õP BS®? 

Sub. Code 
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6. If the set A  is the set of all even numbers in N  then find 
CA . 

 J¸ Pn©õÚx  A  C¯À GsPÎ¾ÒÍ, Cμmøh GsPÎß 

öuõS¨¦ GÛÀ CA  I PõsP. 

7. Define sample space. 

 TÖöÁÎ – Áøμ¯Ö. 

8. A fair coins tossed twice. What is the probability that 
getting one head and one tail? 

 J¸ ^μõÚ |õn¯® C¸•øÓ _sh¨£k® ÷£õx, J¸ 

uø»²® J¸ §Ä® ÂÊÁuØPõÚ {PÌuPÄ GßÚ? 

9. What is the condition the Binomial distribution to be 
symmetrical? 

 D¸Ö¨¦ £μÁÀ \©a^μõP C¸UP {£¢uøÚ ¯õx? 

10. If the mean of a poisson distribution’s 4, find S.D. 

 £õ´\ß £μÁ¼ß \μõ\› 4 GÛÀ vmh Â»UPzøu PõsP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) If the difference between true discount and banker's 
is discount on a sum due in 5 months at 3% p.a. is  
Rs. 10. Find the amount of the bill. 

  Esø© uÒÐ£iUS®, Á[Q uÒÐ£iUS•ÒÍ 

Âzv¯õ\® 5 ©õu[PÐUS 3%zxhß BskUS  

¹. 10 GÛÀ ©õØÖ ^miß öuõøPø¯U PõsP. 

Or 
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 (b) To buy a computer Raju borrowed Rs. 50,000 at 10% 

Interest per year, compounded half yearly, he will 

pay off the debt by equal payments each quarter 

over 15 years. Find the half yearly payment? 

  μõáú PoÛ Áõ[SÁuØS ¹. 50,000 zvøÚ 10% 

Á¸hõ¢vμ Ámi ÃuzvÀ Aøμ BsiÀ •iÁøh²®£i 

Áõ[SQÓõº. AÁº \© AÍÄ {vø¯ Aøμ BsiØS 

J¸•øÓ GÚ 15 BskPÍõP ö\¾zvÚõÀ. Aøμ 

Á¸hzvÀ ö\¾zu ÷Ási¯ öuõøP GÆÁÍÄ? 

12. (a) Show that 1
1log

1
1log

1
1log

1








 abcabc cba
. 

  1
1log

1
1log

1
1log

1








 abcabc cba
 GÚ {ÖÄP. 

Or 

 (b) Using logarithm find the value of   5.10116.1100 . 

    5.10116.1100 –ß ©v¨ø£ ©hUøPø¯ £¯ß£kzv 

{ÖÄP. 

13. (a) If  gfecbaA ,,,,, ,  ihfdbB ,,,,  and the U  is 

the set of all English alphabets than calculate the 

following (i) UA   (ii) UB   and (iii) BA . 

   gfecbaA ,,,,, ,  ihfdbB ,,,,  ©ØÖ® U  GßÓ 

Pn® B[Q» GÊzxPÎß E°º GÊzxUPøÍ 

EÒÍhUQ¯x GÚ öPõsk (i) UA   (ii) UB   

©ØÖ® (iii) BA PøÍ PnUQkP. 

Or 
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 (b) Draw the Venn diagram for CA  and  CUA  . 

  CA  ©ØÖ®  CUA   UPõÚ öÁs£hzvøÚ ÁøμP. 

14. (a) State and prove Addition theorem on probability. 

  {PÌuPÄUPõÚ Tmk v¯μzvøÚ {¹¤zx GÊxP. 

Or 

 (b) Give a short note on Mathematical expectation. 

  PouÂ¯À Gvº£õº¨¦PÒ SÔzx ]Ö SÔ¨¦ u¸P. 

15. (a) Write the formula for binomial distribution and 

discuss it. 

  D¸Ö¨¦ £μÁÀ \©a^›ß `zvμzøu GÊv ÂÍUSP. 

Or 

 (b) A book contains 200 misprints distributed randomly 

throughout its 200 pages. When is the probability 

that a page observed at random contains atleast two 

misprints? Assume Poisson distribution.  

  200 £UP[PÒ öPõsh J¸ ¦zuPzvÀ 200 Aa_ ¤øÇ 

EÒÍÚ. AøÁ ^μØÓ •øÓ°À £μÂ²ÒÍÚ. £õ´\ß 

£μÁø» £¯ß£kzv, J¸ £UPzvÀ ^μØÓ •øÓ°À 

SøÓ¢ux C¸ uÁÖPÒ C¸¨£uØPõÚ {PÌuPÂøÚU 

PõsP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. The simple interest on a certain principal for 5 years is 

Rs. 360 and the interest is 9/25 of the Principal. Find the 

principal and the interest rate. 

 SÔ¨¤mh öuõøP°ß 5 Á¸hzvØPõÚ uÛ Ámi 360 

©ØÖ® Ámi¯õÚx 9/25 À A\À öuõøP GÛÀ A\À 

öuõøPø¯²®, Ámi ÂQuzøu²® PõsP. 

17. Find the value of    3
3322 27loglogloglog . 

    3
3322 27loglogloglog  ß ©v¨ø£ PõsP. 

18. Let BA,  and C  be any three sets. Prove that 

     CABACBA  . 

 BA,  ©ØÖ® C  Gß£Ú H÷uÝ® 3 Pn[PÒ GÛÀ 

     CABACBA   GÚ {ÖÄP. 

19. If two dies are thrown simultaneously then find the 

following : 

 (a) What is the probability of getting a total score of 7 

 (b) Obtain the probability of getting a total score is 

even number. 



F–4806 

  

  6

 C¸ £PøhPÒ J¸ ÷\μ E¸mk¨£k® ö£õÊx 

 (A) TkuÀ 7 QøhUP {PÌuPÄ GßÚ? 

 (B) TkuÀ Cμmøh £øh°À QøhUP {PÌuPÄ ¯õx? 

20. Derive the formula for Normal distribution. 

 D¸Ö¨¦ £μÁ¼ß `zvμzvøÚ {ÖÂ. 

——————— 
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 Section A  (10 × 2 = 20) 

Answer all the questions. 

1. Define doubtful assets. 

 \¢÷uPzvØQh©õÚ PhßPÒ Áøμ¯Ö. 

2. Write any two features of bank accounting system. 

 Á[Q PnUQ¯À •øÓ Cμsk A®\[PøÍ GÊxP. 

3. What is the meaning of surrender value. 

 \μnøhuÀ ©v¨¦ ö£õ¸Ò GßÚ? 

4. What is meant by reinsurance? 

 ©ÖPõ¨¥k ö£õ¸Ò ¯õx? 

5. What is contingency reserve? 

 uØö\¯À JxURk GßÓõÀ GßÚ? 

6. What is double accounts systems? 

 Cμmøh PnUQ¯À •øÓ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define a holding company. 
 ¤i¨¦ {ÖÁÚ® Áøμ¯Ö. 

8. What is minority interest? 

 ]Ö£õßø©°Úº Ámi GßÓõÀ GßÚ? 

9. What is  voyage account? 

 £¯nU PnUSPÒ GßÓõÀ GßÚ? 

10. What is primage? 

 •ußø©¯õÚøÁ GßÓõÀ GßÚ? 

 Section B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the types of investment. 

   •u½miß ÁøPPøÍ £mi¯¼kP. 

Or 

 (b) Narrate the special features of ship system of 
posting. 

   CkøP°k® P¨£À Aø©¨¤ß ]Ó¨¦ A®\[PøÍ 
GÊxP. 

12. (a) A new fire insurance company received premiums 
totalling Rs.86,00,000 (net). Claims totalled 
Rs.18,50,000 and the expenses of management 
including commission amounted Rs.36,20,000 all in 
the first year of its working what is the profit 
earned by the company? 

   J¸ ¦v¯ w Põ¨¥mk {ÖÁÚ® ¹,.86,00,000 ({Pμ) 
Põ¨¥k ö£ØÓx. ÷Põ¸uÀ ö©õzu® ¹.18,50,000 
©ØÖ® ÷©»õsø© ö\»ÄPÒ P/S ¹.36,20,000 
÷\º¢v¸¢ux. A¢u {ÖÁÚ® GÆÁÍÄ C»õ£® 
\®£õvUS®? 

Or 
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 (b) A New marine insurance company reported the 
following figures for the first year of its working. 
Make necessary risks for unexpired risks @ 100% on 
net premium. 

 Rs. 

Premium received on original policies 80,00,000

Reinsurance premium paid 11,00,000

Reinsurance premium received 3,50,000

Claims  11,00,000

Commission of direct business 4,65,000

Expenses of management 21,00,000

   J¸ ¦v¯ PhÀ Põ¨¥mk {ÖÁÚ® ¤ßÁ¸® 
uPÁÀPøÍ •uÀ Á¸hzvØS AÎzxÒÍx. 
÷uøÁ¯õÚ A£õ¯[PøÍ ö\»Âh¨£õu A£õ¯[PÒ 
100% ß Põ¨¥k E¸ÁõUSP. 

 ¹. 

Esø©¯õÚ £õ¼]PÒ Põ¨¥k ö£ØÓx 80,00,000

©ÖPõ¨¥mk ¥›ª¯® ö\¾zv¯x 11,00,000

©ÖPõ¨¥mk ¥›ª¯® ö£ØÓx 3,50,000

÷Põ¸uÀ 11,00,000

uμS ÷|μi ÁoPzvÀ 4,65,000

÷©»õsø© ö\»ÄPÒ 21,00,000

13. (a) From the following particulars draw up (1) capital 
account and (2) general balance sheet as on 30th 
June, 1996 on double accounts system. 

 Rs. 

Authorised capital 30,00,000

Subscribed capital 26,00,000

11% Debentures 4,00,000
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Trade creditors 1,60,000

Reserves 1,50,000

Trade debtors 3,80,000

Cash in hand and at banks 3,50,000

Investments( reserve) 1,50,000

Stock 2,40,000

Expenditure to 30th June 1995;

Land 1,20,000

Shafting etc 13,50,000

Machinery 4,00,000

Buildings 1,30,000

  The expenditure during the year ended 30.6.1996 
was Rs.2,50,000 

  Rs.2,50,000 and Rs.1,00,000 respectively on the last 
three items and a renewal fund of Rs.2,50,000 had 
been created. The balancing item of Rs.1,60,000 
may be taken as profit of the company. 

   ¤ßÁ¸® uPÁÀPÎß ÁøμÄ (1) ‰»uÚ PnUS  
(2) ö£õx JxURk 30áúß 1996 ß Cμmøh £vÄ 
•øÓ. 

 ¹. 

A[RP›UP¨£mh •uÀ 30,00,000
\¢uõ ‰»uÚ® 26,00,000
Phß£zvμ® 4,00,000
ÁoP PhÜ¢÷uõº 1,60,000
JxURk 1,50,000
ÁoP PhÚõÎPÒ 3,80,000
øP öμõUP® ©ØÖ® Á[Q öμõUP® 3,50,000
•u½k (JxURk) 1,50,000
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\μUS 2,40,000

ö\»ÂÚ[PÒ 30 áúß 1995 

{»® 1,20,000

÷å¨i[ 13,50,000

C¯¢vμ® 4,00,000

Pmih® 1,30,000

  30.6.1996 C¢u Á¸h® ö\»ÂÚ® ¹.2,50,000, 
¹.2,50,000 ©ØÖ® ¹.1,00,000 •øÓ¯õP ‰ßÖ 
Á¸h ¦x¨¤zuÀ {v ¹.2,50,000 E¸ÁõUP¨£mhx. 
«u•ÒÍ E¸¨£iPÒ ¹.1,60,000 {ÖÁÚzvß 
»õ£©õP GkzxU öPõÒÍ¨£h»õ®. 

Or 

 (b) Explain the provision of resonable return and 
disposal of surplus of electric supply company. 

   ªß\õμ Â{÷¯õP {ÖÁÚzvß E£› {¯õ¯©õÚ 
Á¸Áõ´ ©ØÖ® APØÖÁuØPõÚ HØ£õkPøÍ ÂÁ›. 

14. (a) While preparing a consolidated balance sheet what 
amount would you carry to capital reserve account? 

   J¸[Qøn¢u C¸¨¦{ø» u¯õ›US®÷£õx G¢u 
öuõøPø¯ ‰»uÚ JxURmk PnUQØS 
GkzxUöPõÒÃº? 

Or 

 (b) How would you ascertain the minority interest? 

   ]Ö£õßø©°Úº Ámiø¯ G¨£i PnUQkÁõ´? 

15. (a) How to calculate voyage in progress? 

   •ß÷ÚØÓ¨ £¯nzøu GÆÁõÖ PnUQkÁx? 

Or 

 (b) Discuss the passage money is treated as income in 
voyage account. 

   £zv°ß £n® £¯nU PnUQÀ Á¸©õÚ©õP 
P¸u¨£kQÓuõ ÂÁõv. 
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 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following ledger balance of Laxmi bank limited, 
prepare the profit and loss accountant and balance sheet 
as on 31st March, 1996: 

 Rs. 
(‘000) 

 Rs. 
(‘000) 

Share capital  Payment of 
employees 

74

12,500 equity 
shares of 
Rs.100 each 

1,250 Depreciation on 
premises 

22

Statutory 
reserve 

600 Interest, discount 
and commission 

245

Current 
accounts and 
deposits A/c 

7,732 Cash in hand and 
with reserve 

-

Acceptance of 
behalf of 
customers 

1,200 Bank of India 1,584

P and L 
Account 
(balance) 

15 Money at cell and 
short notice 

274

Interest paid 27 Bills discount 379

Government 
securities 

600 Loans and advances 4,665

Other 
securities 

825 Bank premises and 
furnitures 

418

Shares and 
stock 

637 Freehold and lease 
hold 

337

  Make a provision for rebate of bills discounted 
Rs.3,000 
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 ö»m_ª Á[Q ¼ªöhmiß ÷£÷μk C¸¨¦ ¤ßÁ¸©õÖ 
31 ©õºa, 1996 US C»õ£ |mh PnUS ©ØÖ® C¸¨¦  
{ø»U SÔ¨¦ u¯õ›UPÄ®. 

 ¹. 
(‘000) 

 ¹. 
(‘000) 

£[S ‰»uÚ® FÈ¯ºPÐUS 
ö\¾zv¯x 

74

12,500 \õuõμn 
£[SPÒ ¹.100 
Ãu® 

1,250 ÁÍõP ÷u´©õÚ® 22

\mh JxURk 600 Ámi, uÒÐ£i 
©ØÖ® uμS  

245

|h¨¦ PnUS 
©ØÖ® øÁ¨¦ 

7,732 øPöμõUP® ©ØÖ® 
JxURk 

-

ÁõiUøP¯õÍº 
\õº£õP HØÖU 
öPõshx 

1,200 £õ[U B¨ C¢v¯ 1,584

C»õ£ |mh 
P/S (C¸¨¦) 

15 AøÇ¨¦ ©ØÖ® 
C¸¨¦hß £n®  

274

Ámi 
ö\¾zv¯x 

27 ¤À uÒÐ£i 379

Aμ_ £zvμ[PÒ 600 Phß ©ØÖ® 
•ß£n® 

4,665

¤Ó £zvμ[PÒ 825 Á[Q ÁÍõP® ©ØÖ® 
uÍÁõh[PÒ 

418

£[S ©ØÖ® 
C¸¨¦ 

637 ©øÚxøn ©ØÖ® 
SzuøP 

337

  uÒÐ£i ö\´¯¨£mh ¤ÀPÒ «uõÚ uÒÐ£iUS 
¹.3,000 HØ£õk ö\´²[PÒ. 
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17. A life insurance company disclosed a fund of Rs.20,00,000 
of the balance sheet total Rs.45,00,000 on 31st March, 
1996 before taking the following into consideration: 

 (a) A claim of Rs.10,000 was intimated and admitted 
but not paid during the year 

 (b) A claim of Rs.6,000 outstanding in the books for 8 
years in written back 

 (c) Interest on securities accrued Rs.800, but not 
received during the year 

 (d) Rent of the own building occupied Rs.2,000 

 (e) Premium of Rs. 600 is payable under reinsurance 

 (f) Reinsurance recoveries Rs.26,000 

 (g) Bonus utilised in reduction of premium Rs.10,000 

 (h) Agents commission to be paid Rs.8,000 . 

  Pass the necessary journal entries for the omissions, 
recompute the find and show the balance sheet total 
after making the above adjustments. 

 J¸ B²Ò Põ¨¥mk {ÖÁÚ® ¹.20,00,000 {vø¯ 
öÁÎ°mhx ©ØÖ® ¹.45,00,000 C¸¨¦{ø» SÔ¨¦ 31 
©õºa 1996 ¤ßÁ¸ÁÚÁØøÓ PÁÚzvÀ öPõÒÁuØS•ß  

 (A) ¹.10,000 ÷PõμÀ öu›ÂUP¨£mk 
J¨¦UöPõÒÍ¨£mhx. BÚõÀ C¢u BsiÀ 
ö\¾zu¨£hÂÀø» 

 (B) 8 BskPÍõP ¦zuP[PÎÀ {¾øÁ°À EÒÍ 
¹.6,000 E›ø©÷PõμÀ «sk® GÊu¨£mhx 

 (C) £zvμ[PÒ «uõÚ Ámi ¹.800 US EzuμÁõu® 
AÎzux BÚõÀ A¢u BsiÀ ö£Ó¨£hÂÀø» 

 (D) ö\õ¢u Pmihzvß ÁõhøP ¹.2,000 
BUQμªUP¨£mkÒÍx. 

 (E) ¹.600 Cß ¤›ª¯® ©ÖPõ¨¥miß RÌ 
ö\¾zu¨£k® 

 (F) ©ÖPõ¨¥mk «ÒP£mhx ¹.26,000 
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 (G) ¥›ª¯® SøÓ¨£vÀ ¹.10,000 ÷£õÚì 
£¯ß£kzu¨£kQÓx 

 (H) •PÁº uμS ¹.8,000 ö\¾zu¨£mhx 

  ÷©÷» EÒÍ SøÓ¨£õkPÐUS ÷uøÁ¯õÚ 
SÔ¨÷£k, {vø¯ «sk® PnUQmk ÷©÷» EÒÍ 
©õØÓ[PøÍ ö\´u¤ß C¸¨¦{ø» ö©õzuzøu 
Põs¤. 

18. Explain the advantages and disadvantages of double 
account system. 

Cμmøh PnUQ°¯À•øÓ°ß |ßø©PÒ ©ØÖ® 
wø©PøÍ ÂÁ›. 

19. H Ltd acquired 80,000 shares of Rs.10 each in S Ltd on” 
1st October, 1995. The summarised balance sheets of H 
Ltd. and S Ltd on 31.3.96. 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

 Assets H Ltd 
Rs. 

S Ltd 
Rs. 

Share 
capital in 
shares of 
Rs.10 each  

20,00,000  10,00,000  Machinery 6,00,000 4,50,000

Reserve 1,00,000  1,50,000  Furniture 20,000 40,000

Profit and 
loss A/c 

50,000  45,000  Shares in S Ltd 8,80,000 -

9% 
debentures 

-  2,00,000  9% Debentures in 
S Ltd 

80,000 -

Creditors 4,00,000  2,00,000  Stock 5,20,000 6,50,000

Bills 
payable 

20,000  10,000  Debtors 1,80,000 2,70,000

     Bills receivable 10,000 15,000

     Cash 2,80,000 1,80,000

 25,70,000  16,05,000   25,70,000 16,05,000

 Bills receivable of S Ltd. include bills for Rs.8,000 
accepted by H Ltd. and creditors of S Ltd. include 
Rs.20,000 due to H Ltd. An amount of Rs.30,000 was 
transferred by S Ltd. from the current year’s profits to 
reserves. 
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 You are required to prepare the consolidated balance 
sheet as on 31st March,1996 showing therein how your 
figures are made up. 

 H ¼ªöhm 80,000 ® £[SPøÍ J¸ £[Qß Âø» ¹.10 
Ãu® S ¼ªöhmih® Áõ[Q¯x C¸¨¦{ø» H ¼ªöhm 
©ØÖ®  
S ¼ªöhm _¸UP©õP öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ H Ltd 
¹. 

 S Ltd 
¹. 

 Assets H Ltd 
¹. 

S Ltd 
¹. 

£[S •uÀ 
£[S JßÔß 
¹.10 Ãu® 

20,00,000  10,00,000  C¯¢v® 6,00,000 4,50,000

JxURk 1,00,000  1,50,000  uÍÁõh[PÒ 20,000 40,000
C»õ£ |mh 
P/S 

50,000  45,000  S ¼ªöhm 
£[S  

8,80,000 -

9% Phß 
£zvμ® 

-  2,00,000  9% Phß 

£zvμ® S 
¼ªöhm 

80,000

PhÜ¢÷uõº 4,00,000  2,00,000  \μUS 5,20,000 6,50,000
ö\¾zxa^mk 20,000  10,000  PhÚõÎPÒ 1,80,000 2,70,000

     ö£ÖuÀ ^mk 10,000 15,000

     öμõUP® 2,80,000 1,80,000

 25,70,000  16,05,000   25,70,000 16,05,000

 ö£ÖuÀ ^mk S ¼ªöhmiß ¤À ¹.8,000 H ¼ªöhm 
HØÖU öPõshx ©ØÖ® S ¼ªöhm PhÜ¢÷uõº ¹.20,000  
H ¼ªöhm EÒÍx ¹.30,000 öuõøP C¢u Á¸h® 
C»õ£® JxURmiØS ©õØÓ¨£mhx. 

 J¸[Qøn¢u C¸¨¦ {ø» 31 ©õºa, 1996 u¯õ›UPÄ®. 

20. Discuss the points special attention in connection with 
voyage accounts.  

£¯nU PnUSPÒ öuõhº£õP ¦ÒÎPÒ SÔzx PÁÚ® 
ö\¾zxQÓuõ ÂÁõv. 

 
———————— 
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 Section A  (10 × 2 = 20) 

Answer all the questions. 

1. Define doubtful assets. 

 \¢÷uPzvØQh©õÚ PhßPÒ Áøμ¯Ö. 

2. Write any two features of bank accounting system. 

 Á[Q PnUQ¯À •øÓ Cμsk A®\[PøÍ GÊxP. 

3. What is the meaning of surrender value. 

 \μnøhuÀ ©v¨¦ ö£õ¸Ò GßÚ? 

4. What is meant by reinsurance? 

 ©ÖPõ¨¥k ö£õ¸Ò ¯õx? 

5. What is contingency reserve? 

 uØö\¯À JxURk GßÓõÀ GßÚ? 

6. What is double accounts systems? 

 Cμmøh PnUQ¯À •øÓ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define a holding company. 
 ¤i¨¦ {ÖÁÚ® Áøμ¯Ö. 

8. What is minority interest? 

 ]Ö£õßø©°Úº Ámi GßÓõÀ GßÚ? 

9. What is  voyage account? 

 £¯nU PnUSPÒ GßÓõÀ GßÚ? 

10. What is primage? 

 •ußø©¯õÚøÁ GßÓõÀ GßÚ? 

 Section B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the types of investment. 

   •u½miß ÁøPPøÍ £mi¯¼kP. 

Or 

 (b) Narrate the special features of ship system of 
posting. 

   CkøP°k® P¨£À Aø©¨¤ß ]Ó¨¦ A®\[PøÍ 
GÊxP. 

12. (a) A new fire insurance company received premiums 
totalling Rs.86,00,000 (net). Claims totalled 
Rs.18,50,000 and the expenses of management 
including commission amounted Rs.36,20,000 all in 
the first year of its working what is the profit 
earned by the company? 

   J¸ ¦v¯ w Põ¨¥mk {ÖÁÚ® ¹,.86,00,000 ({Pμ) 
Põ¨¥k ö£ØÓx. ÷Põ¸uÀ ö©õzu® ¹.18,50,000 
©ØÖ® ÷©»õsø© ö\»ÄPÒ P/S ¹.36,20,000 
÷\º¢v¸¢ux. A¢u {ÖÁÚ® GÆÁÍÄ C»õ£® 
\®£õvUS®? 

Or 
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 (b) A New marine insurance company reported the 
following figures for the first year of its working. 
Make necessary risks for unexpired risks @ 100% on 
net premium. 

 Rs. 

Premium received on original policies 80,00,000

Reinsurance premium paid 11,00,000

Reinsurance premium received 3,50,000

Claims  11,00,000

Commission of direct business 4,65,000

Expenses of management 21,00,000

   J¸ ¦v¯ PhÀ Põ¨¥mk {ÖÁÚ® ¤ßÁ¸® 
uPÁÀPøÍ •uÀ Á¸hzvØS AÎzxÒÍx. 
÷uøÁ¯õÚ A£õ¯[PøÍ ö\»Âh¨£õu A£õ¯[PÒ 
100% ß Põ¨¥k E¸ÁõUSP. 

 ¹. 

Esø©¯õÚ £õ¼]PÒ Põ¨¥k ö£ØÓx 80,00,000

©ÖPõ¨¥mk ¥›ª¯® ö\¾zv¯x 11,00,000

©ÖPõ¨¥mk ¥›ª¯® ö£ØÓx 3,50,000

÷Põ¸uÀ 11,00,000

uμS ÷|μi ÁoPzvÀ 4,65,000

÷©»õsø© ö\»ÄPÒ 21,00,000

13. (a) From the following particulars draw up (1) capital 
account and (2) general balance sheet as on 30th 
June, 1996 on double accounts system. 

 Rs. 

Authorised capital 30,00,000

Subscribed capital 26,00,000

11% Debentures 4,00,000
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Trade creditors 1,60,000

Reserves 1,50,000

Trade debtors 3,80,000

Cash in hand and at banks 3,50,000

Investments( reserve) 1,50,000

Stock 2,40,000

Expenditure to 30th June 1995;

Land 1,20,000

Shafting etc 13,50,000

Machinery 4,00,000

Buildings 1,30,000

  The expenditure during the year ended 30.6.1996 
was Rs.2,50,000 

  Rs.2,50,000 and Rs.1,00,000 respectively on the last 
three items and a renewal fund of Rs.2,50,000 had 
been created. The balancing item of Rs.1,60,000 
may be taken as profit of the company. 

   ¤ßÁ¸® uPÁÀPÎß ÁøμÄ (1) ‰»uÚ PnUS  
(2) ö£õx JxURk 30áúß 1996 ß Cμmøh £vÄ 
•øÓ. 

 ¹. 

A[RP›UP¨£mh •uÀ 30,00,000
\¢uõ ‰»uÚ® 26,00,000
Phß£zvμ® 4,00,000
ÁoP PhÜ¢÷uõº 1,60,000
JxURk 1,50,000
ÁoP PhÚõÎPÒ 3,80,000
øP öμõUP® ©ØÖ® Á[Q öμõUP® 3,50,000
•u½k (JxURk) 1,50,000
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\μUS 2,40,000

ö\»ÂÚ[PÒ 30 áúß 1995 

{»® 1,20,000

÷å¨i[ 13,50,000

C¯¢vμ® 4,00,000

Pmih® 1,30,000

  30.6.1996 C¢u Á¸h® ö\»ÂÚ® ¹.2,50,000, 
¹.2,50,000 ©ØÖ® ¹.1,00,000 •øÓ¯õP ‰ßÖ 
Á¸h ¦x¨¤zuÀ {v ¹.2,50,000 E¸ÁõUP¨£mhx. 
«u•ÒÍ E¸¨£iPÒ ¹.1,60,000 {ÖÁÚzvß 
»õ£©õP GkzxU öPõÒÍ¨£h»õ®. 

Or 

 (b) Explain the provision of resonable return and 
disposal of surplus of electric supply company. 

   ªß\õμ Â{÷¯õP {ÖÁÚzvß E£› {¯õ¯©õÚ 
Á¸Áõ´ ©ØÖ® APØÖÁuØPõÚ HØ£õkPøÍ ÂÁ›. 

14. (a) While preparing a consolidated balance sheet what 
amount would you carry to capital reserve account? 

   J¸[Qøn¢u C¸¨¦{ø» u¯õ›US®÷£õx G¢u 
öuõøPø¯ ‰»uÚ JxURmk PnUQØS 
GkzxUöPõÒÃº? 

Or 

 (b) How would you ascertain the minority interest? 

   ]Ö£õßø©°Úº Ámiø¯ G¨£i PnUQkÁõ´? 

15. (a) How to calculate voyage in progress? 

   •ß÷ÚØÓ¨ £¯nzøu GÆÁõÖ PnUQkÁx? 

Or 

 (b) Discuss the passage money is treated as income in 
voyage account. 

   £zv°ß £n® £¯nU PnUQÀ Á¸©õÚ©õP 
P¸u¨£kQÓuõ ÂÁõv. 
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 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following ledger balance of Laxmi bank limited, 
prepare the profit and loss accountant and balance sheet 
as on 31st March, 1996: 

 Rs. 
(‘000) 

 Rs. 
(‘000) 

Share capital  Payment of 
employees 

74

12,500 equity 
shares of 
Rs.100 each 

1,250 Depreciation on 
premises 

22

Statutory 
reserve 

600 Interest, discount 
and commission 

245

Current 
accounts and 
deposits A/c 

7,732 Cash in hand and 
with reserve 

-

Acceptance of 
behalf of 
customers 

1,200 Bank of India 1,584

P and L 
Account 
(balance) 

15 Money at cell and 
short notice 

274

Interest paid 27 Bills discount 379

Government 
securities 

600 Loans and advances 4,665

Other 
securities 

825 Bank premises and 
furnitures 

418

Shares and 
stock 

637 Freehold and lease 
hold 

337

  Make a provision for rebate of bills discounted 
Rs.3,000 
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 ö»m_ª Á[Q ¼ªöhmiß ÷£÷μk C¸¨¦ ¤ßÁ¸©õÖ 
31 ©õºa, 1996 US C»õ£ |mh PnUS ©ØÖ® C¸¨¦  
{ø»U SÔ¨¦ u¯õ›UPÄ®. 

 ¹. 
(‘000) 

 ¹. 
(‘000) 

£[S ‰»uÚ® FÈ¯ºPÐUS 
ö\¾zv¯x 

74

12,500 \õuõμn 
£[SPÒ ¹.100 
Ãu® 

1,250 ÁÍõP ÷u´©õÚ® 22

\mh JxURk 600 Ámi, uÒÐ£i 
©ØÖ® uμS  

245

|h¨¦ PnUS 
©ØÖ® øÁ¨¦ 

7,732 øPöμõUP® ©ØÖ® 
JxURk 

-

ÁõiUøP¯õÍº 
\õº£õP HØÖU 
öPõshx 

1,200 £õ[U B¨ C¢v¯ 1,584

C»õ£ |mh 
P/S (C¸¨¦) 

15 AøÇ¨¦ ©ØÖ® 
C¸¨¦hß £n®  

274

Ámi 
ö\¾zv¯x 

27 ¤À uÒÐ£i 379

Aμ_ £zvμ[PÒ 600 Phß ©ØÖ® 
•ß£n® 

4,665

¤Ó £zvμ[PÒ 825 Á[Q ÁÍõP® ©ØÖ® 
uÍÁõh[PÒ 

418

£[S ©ØÖ® 
C¸¨¦ 

637 ©øÚxøn ©ØÖ® 
SzuøP 

337

  uÒÐ£i ö\´¯¨£mh ¤ÀPÒ «uõÚ uÒÐ£iUS 
¹.3,000 HØ£õk ö\´²[PÒ. 



F–4541 

  

  8

17. A life insurance company disclosed a fund of Rs.20,00,000 
of the balance sheet total Rs.45,00,000 on 31st March, 
1996 before taking the following into consideration: 

 (a) A claim of Rs.10,000 was intimated and admitted 
but not paid during the year 

 (b) A claim of Rs.6,000 outstanding in the books for 8 
years in written back 

 (c) Interest on securities accrued Rs.800, but not 
received during the year 

 (d) Rent of the own building occupied Rs.2,000 

 (e) Premium of Rs. 600 is payable under reinsurance 

 (f) Reinsurance recoveries Rs.26,000 

 (g) Bonus utilised in reduction of premium Rs.10,000 

 (h) Agents commission to be paid Rs.8,000 . 

  Pass the necessary journal entries for the omissions, 
recompute the find and show the balance sheet total 
after making the above adjustments. 

 J¸ B²Ò Põ¨¥mk {ÖÁÚ® ¹.20,00,000 {vø¯ 
öÁÎ°mhx ©ØÖ® ¹.45,00,000 C¸¨¦{ø» SÔ¨¦ 31 
©õºa 1996 ¤ßÁ¸ÁÚÁØøÓ PÁÚzvÀ öPõÒÁuØS•ß  

 (A) ¹.10,000 ÷PõμÀ öu›ÂUP¨£mk 
J¨¦UöPõÒÍ¨£mhx. BÚõÀ C¢u BsiÀ 
ö\¾zu¨£hÂÀø» 

 (B) 8 BskPÍõP ¦zuP[PÎÀ {¾øÁ°À EÒÍ 
¹.6,000 E›ø©÷PõμÀ «sk® GÊu¨£mhx 

 (C) £zvμ[PÒ «uõÚ Ámi ¹.800 US EzuμÁõu® 
AÎzux BÚõÀ A¢u BsiÀ ö£Ó¨£hÂÀø» 

 (D) ö\õ¢u Pmihzvß ÁõhøP ¹.2,000 
BUQμªUP¨£mkÒÍx. 

 (E) ¹.600 Cß ¤›ª¯® ©ÖPõ¨¥miß RÌ 
ö\¾zu¨£k® 

 (F) ©ÖPõ¨¥mk «ÒP£mhx ¹.26,000 
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 (G) ¥›ª¯® SøÓ¨£vÀ ¹.10,000 ÷£õÚì 
£¯ß£kzu¨£kQÓx 

 (H) •PÁº uμS ¹.8,000 ö\¾zu¨£mhx 

  ÷©÷» EÒÍ SøÓ¨£õkPÐUS ÷uøÁ¯õÚ 
SÔ¨÷£k, {vø¯ «sk® PnUQmk ÷©÷» EÒÍ 
©õØÓ[PøÍ ö\´u¤ß C¸¨¦{ø» ö©õzuzøu 
Põs¤. 

18. Explain the advantages and disadvantages of double 
account system. 

Cμmøh PnUQ°¯À•øÓ°ß |ßø©PÒ ©ØÖ® 
wø©PøÍ ÂÁ›. 

19. H Ltd acquired 80,000 shares of Rs.10 each in S Ltd on” 
1st October, 1995. The summarised balance sheets of H 
Ltd. and S Ltd on 31.3.96. 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

 Assets H Ltd 
Rs. 

S Ltd 
Rs. 

Share 
capital in 
shares of 
Rs.10 each  

20,00,000  10,00,000  Machinery 6,00,000 4,50,000

Reserve 1,00,000  1,50,000  Furniture 20,000 40,000

Profit and 
loss A/c 

50,000  45,000  Shares in S Ltd 8,80,000 -

9% 
debentures 

-  2,00,000  9% Debentures in 
S Ltd 

80,000 -

Creditors 4,00,000  2,00,000  Stock 5,20,000 6,50,000

Bills 
payable 

20,000  10,000  Debtors 1,80,000 2,70,000

     Bills receivable 10,000 15,000

     Cash 2,80,000 1,80,000

 25,70,000  16,05,000   25,70,000 16,05,000

 Bills receivable of S Ltd. include bills for Rs.8,000 
accepted by H Ltd. and creditors of S Ltd. include 
Rs.20,000 due to H Ltd. An amount of Rs.30,000 was 
transferred by S Ltd. from the current year’s profits to 
reserves. 
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 You are required to prepare the consolidated balance 
sheet as on 31st March,1996 showing therein how your 
figures are made up. 

 H ¼ªöhm 80,000 ® £[SPøÍ J¸ £[Qß Âø» ¹.10 
Ãu® S ¼ªöhmih® Áõ[Q¯x C¸¨¦{ø» H ¼ªöhm 
©ØÖ®  
S ¼ªöhm _¸UP©õP öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ H Ltd 
¹. 

 S Ltd 
¹. 

 Assets H Ltd 
¹. 

S Ltd 
¹. 

£[S •uÀ 
£[S JßÔß 
¹.10 Ãu® 

20,00,000  10,00,000  C¯¢v® 6,00,000 4,50,000

JxURk 1,00,000  1,50,000  uÍÁõh[PÒ 20,000 40,000
C»õ£ |mh 
P/S 

50,000  45,000  S ¼ªöhm 
£[S  

8,80,000 -

9% Phß 
£zvμ® 

-  2,00,000  9% Phß 

£zvμ® S 
¼ªöhm 

80,000

PhÜ¢÷uõº 4,00,000  2,00,000  \μUS 5,20,000 6,50,000
ö\¾zxa^mk 20,000  10,000  PhÚõÎPÒ 1,80,000 2,70,000

     ö£ÖuÀ ^mk 10,000 15,000

     öμõUP® 2,80,000 1,80,000

 25,70,000  16,05,000   25,70,000 16,05,000

 ö£ÖuÀ ^mk S ¼ªöhmiß ¤À ¹.8,000 H ¼ªöhm 
HØÖU öPõshx ©ØÖ® S ¼ªöhm PhÜ¢÷uõº ¹.20,000  
H ¼ªöhm EÒÍx ¹.30,000 öuõøP C¢u Á¸h® 
C»õ£® JxURmiØS ©õØÓ¨£mhx. 

 J¸[Qøn¢u C¸¨¦ {ø» 31 ©õºa, 1996 u¯õ›UPÄ®. 

20. Discuss the points special attention in connection with 
voyage accounts.  

£¯nU PnUSPÒ öuõhº£õP ¦ÒÎPÒ SÔzx PÁÚ® 
ö\¾zxQÓuõ ÂÁõv. 

 
———————— 
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 Section A  (10  2 = 20) 

Answer all questions. 

1. What is Management Accounting? 

 ÷©»õsø©U PnUQ¯À GßÓõÀ GßÚ? 

2. What is common-size statements? 

 ö£õx AÍÄ AÔUøPPÒ GßÓõÀ GßÚ? 

3. What are the principle components of Financial 
Statements? 

 {v{ø» AÔUøPPÎß •UQ¯ EÒÏkPÒ ¯õøÁ? 

4. What are the modes of expressing ‘Ratio’? 

 ÂQu[PøÍ öÁÎ¨£kzx® ÁÈ•øÓPÒ ¯õøÁ? 

5. What is cash flow statement? 

 öμõUP |h©õmh AÔUøP GßÓõÀ GßÚ? 

Sub. Code 
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6. What is working capital? 

 |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

7. What do you mean by Budgeting? 

 vmh® £ØÔ }Ãº AÔÁöußÚ? 

8. What is master budget? 

 uø»ø© {vzvmh® GßÓõÀ GßÚ? 

9. Define standard costing. 

 uh AhUPÂø» – Áøμ¯Ö. 

10. What is marginal costing? 

 CÖv {ø»a ö\»ÄPÒ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are special functions of Management 
Accounting? 

   ÷©»õsø© PnUQ¯¼ß £oPÒ ¯õøÁ? 

Or 

 (b) Explain the objective of Management Accounting. 

   ÷©»õsø© PnUQ¯¼À SÔU÷PõÒPøÍ £ØÔ 

ÂÍUSP. 
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12. (a) Calculate Break even Point from the following  
data : 

  Profit Rs.5,000 (20% on sales) 

  P/V ratio : 50% 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£ |mh©ØÓ ¦ÒÎø¯ 
PnUQkP. 

   C»õ£® ¹.5,000 (ÂØ£øÚ°À 20%) 

   £[PÎ¨¦ ÂQu® 50% 

Or 

 (b) Calculate current ratio and Liquid ratio from the 
following details: 

 Rs.

Cash 18,000

Debtors 1,42,000

Closing stock 1,80,000

Bills payable 27,000

Creditors 50,000

Outstanding expenses 90,000

   RÌPõq® ÂÁμ[PÎ¼¸¢x |øh•øÓ ÂQu® ©ØÖ® 
öμõUP©õUS® ÂQu® BQ¯ÁØøÓU PnUQkP. 

 ¹.

öμõUP® 18,000

PhÚõÎPÒ 1,42,000

CÖv \μUQ¸¨¦ 1,80,000

ö\¾zuØS›¯ ©õ/^ 27,000

PhÜ¢÷uõº 50,000

öPõk£h÷Ási¯ ö\»ÄPÒ 90,000
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13. (a) Calculate fund from operation from the following. 
 Rs.  Rs.

To salaries 10,000 By Grass Profit 2,00,000

To rent 3,000 By Profit on sale of 
machinery 

5,000

To commission 2,000 By dividend received 5,000

To discount 1,000   

To depreciation 14,000   

To general reserve 20,000   

To provision for 
tax 

15,000   

To preliminary 
expenses 

5,000   

To selling 
expenses 

20,000   

To net profit 1,20,000   

 2,10,000  2,10,000

   RÌPsh C»õ£ |mh PnUQ¼¸¢x ö\¯ÀÁÈ 
{v°øÚU PnUQkP. 

 ¹.  ¹. 

\®£Í® 10,000 ö©õzu »õ£® 2,00,000

ÁõhøP 3,000 C¯¢vμ® ÂØÓvÀ 
»õ£® 

5,000 

uμS 2,000 £[Põuõ¯® ö£ØÓx 5,000 

PÈÄ 1,000   

÷u´©õÚ® 14,000   

ö£õx Põ¨¦ 20,000   

Á› Põ¨¦ 15,000   
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öuõhUP ö\»ÄPÒ 5,000   

ÂØ£øÚ 
ö\»ÄPÒ 

20,000   

{Pμ »õ£® 1,20,000   

 2,10,000  2,10,000

Or 

 (b) Calculate cash from operation. 
 Rs.

Net profit 1,00,000

Depreciation : 

Building 14,000

Machinery 5,000

Preliminary expenses 5,000

Provision for tax 10,000

Good will 5,000

Gain on sale of building 8,000

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x ö\¯Ø£õmk öμõUPzøu 
PnUQkP. 

  ¹.

{Pμ»õ£® 1,00,000

÷u´©õÚ® : 

Pmih® 14,000

C¯¢vμ® 5,000

öuõhUP ö\»ÄPÒ 5,000

Á› Põ¨¦ 10,000

|Øö£¯º 5,000

Pmih® ÂØÓvÀ Qøhzu C»õ£® 8,000
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14. (a) What are the objectives of budgetary control? 

   ÁμÄ ö\»Ä vmh Pmk¨£õmiß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Prepare production budget from the following data : 
Product  Opening stock 

(units) 
Stock 

(units)
Closing stock

(units)

A 8,000 40,000 12,000

B 12,000 60,000 20,000

C 16,000 52,000 12,000

D 12,000 48,000 8,000

   RÌPsh ÂÁμ[PøÍU öPõsk EØ£zv vmh® 
u¯õ›UPÄ®. 

ö£õ¸Ò  Bμ®£ C¸¨¦ 
(A»SPÒ) 

ÂØ£øÚ
(A»SPÒ)

CÖva 
\μUQ¸¨¦

(A»SPÒ)

A 8,000 40,000 12,000

B 12,000 60,000 20,000

C 16,000 52,000 12,000

D 12,000 48,000 8,000

15. (a) From the following data calculate : 

  (i) P/V Ratio 

  (ii) Variable cost and 

  (iii) Profit 

 Rs.

Sales 80,000

Fixed expenses 15,000

Break even point 50,000
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   RÌPsh uPÁÀPøÍ PnUQkP. 

   (i) £[PÎ¨¦ ÂQu® 

   (ii) ©õÖ£k® Âø» 
   (iii) C»õ£® 

 ¹.

ÂØ£øÚ 80,000
{ø»¯õÚ ö\»ÄPÒ 15,000
C»õ£ |mh©ØÓ ¦ÒÎ 50,000

Or 

 (b) The following information is given by the companies 
ABC and XYZ. 

 ABC XYZ
 Rs. Rs.
Units produced and sold 85,000 85,000
Revenues 1,70,00 1,70,00
Fixed costs 80,000 80,000
Operating income 51,000 51,000
Variable costs 34,000 85,000

  Find out the break-even-point of each company both 
in units as well as value. 

   ABC ©ØÖ® XYZ GßÓ {Ö©[PÒ R÷Ç EÒÍ 
ÂÁμ[PøÍ öPõkzxÒÍÚ. 

 ABC XYZ

 ¹. ¹.

EØ£zv ö\´x ÂØ£øÚ ö\´u A»SPÒ 85,000 85,000

Á¸Áõ´PÒ 1,70,00 1,70,00

{ø»a ö\»ÄPÒ 80,000 80,000

C¯UP Á¸©õÚ® 51,000 51,000

©õÖ£k® ö\»ÄPÒ 34,000 85,000

  \› \© ¦ÒÎ¯ø¯ ¹£õ´ ©v¨¦ ©ØÖ® A»Q¾® JÆöÁõ¸ 
{Ö©zvØS PnUQkP. 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the nature and scope of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß C¯À¦ ©ØÖ® GÀø»PÒ SÔzx 

ÂÁ›UPÄ®. 

17. Prepare a Balance sheet with as many details as possible 
from the following information : 

 (a) Gross profit ration   – 20% 

 (b) Debtors Turnover   _ 6 times 

 (c) Fixed Assets to net worth – 0.80 

 (d) Reserves to capital   – 0.50  

 (e) Current Ratio   – 2.50  

 (f) Liquid Ratio   – 1.50 

 (g) Net working capital  – Rs. 3,00,000 

 (h) Stock turn over ratio  – 6 times 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x C¸¨¦ {ø»U 

SÔ¨¦ u¯õº ö\´P. 

 (A) ö©õzu C»õ£® ÂQu® –20% 

 (B) PhÚõÎPÒ ÂØ£øÚ ÂQu® -– 6 uhøÁ 

 (C) {Pμ ©v¨¤ß «x {ø»a ö\õzxUPÒ – 0.80 

 (D) ‰»uÚ® «uõÚ öμõUP C¸¨¦ – 0.50 

 (E) |h¨¦ ÂQu® – 2.50 

 (F) }ºø© ÂQu® – 1.50 

 (G) {Pμ |øh•øÓ ‰»uÚ® – ¹.3,00,000 

 (H) \μUQ¸¨¦ ÂØ£øÚ ÂQu® – 6 uhøÁ 
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18. Prepare fund flow statement. 

Liabilities 2011  2012 Assets 2011 2012 

 Rs.  Rs.  Rs. Rs. 

Capital 60,000  75,000 Land 5,000 6,000 

General 
reserve 

10,000  15,000 Machinery 25,000 30,000 

Debentures 20,000  15,000 Cash 10,000 15,000 

Creditors 15,000  26,000 Debtors 15,000 5,000 

    Stock 50,000 75,000 

 1,05,000  1,31,000  1,05,000 1,31,000

 Adjustments : 

 (a) Dividend Paid during the year Rs.5,000. 

 (b) Depreciation on machinery Rs.10,000 

 {v |h©mh AÔUøP u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2011  2012 ö\õzxUPÒ 2011 2012 

 ¹.  ¹.  ¹. ¹. 

•uÀ 60,000  75,000 {»® 5,000 6,000 

ö£õx Põ¨¦ 10,000  15,000 C¯¢vμ® 25,000 30,000 

Phß £zvμ® 20,000  15,000 öμõUP® 10,000 15,000 

PhÜ¢÷uõº 15,000  26,000 PhÚõÎPÒ 15,000 5,000 

    \μUQ¸¨¦ 50,000 75,000 

 1,05,000  1,31,000  1,05,000 1,31,000

 \›UPmhÀPÒ : 

 (A) CÆÁõsiØS ÁÇ[P¨£mh £[Põuõ¯® ¹. 5,000. 

 (B) C¯¢vμzvß «uõÚ £[Põuõ¯® ¹. 10,000 
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19. Explain the methods of Financial Budgets. 

 {v vmh £mi¯¼ß ÁøPPøÍ ÂÍUSP. 

20. The sales and profits during two years were as follows : 

 Sales (Rs.) Profit (Rs.)

2011 1,40,000 15,000

2012 1,60,000 20,000

 Calculate : 

 (a) P/V ratio 

 (b) Break-even-Point 

 (c) Sales required to earn a profit of Rs.40,000 

 (d) Fixed cost. 

 (e) Profit when sales are Rs.1,20,000 

 Cμsk Á¸h[PÐøh¯ ÂØ£øÚ ©ØÖ® C»õ£® R÷Ç 
öPõkUP¨£mkÒÍx, 

 ÂØ£øÚ  
(¹.) 

C»õ£® 
(¹.)

2011 1,40,000 15,000

2012 1,60,000 20,000

  Psk¤i : 

  (A) C»õ£ AÍÄ ÂQu® 

  (B) C»õ£ |mhªÀ»õ ¦ÒÎ 

  (C) ¹. 40,000 DmhUTi¯ ÂØ£øÚ 

  (D) {ø»¯õÚ ö\»ÄPÒ 

 (E) ÂØ£øÚ ¹. 1,20,000 GÝ® ÷£õx C»õ£®. 

 

———————— 
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 Section A  (10  2 = 20) 

Answer all questions. 

1. What is safety? 

 £õxPõ¨¦ GßÓõÀ GßÚ? 

2. Bring out the meaning of welfare of workers. 

 öuõÈ»õÍº |»ß ö£õ¸Ò u¸P. 

3. What is trade union? 

 öuõÈ»õÍº \[P® GßÓõÀ GßÚ? 

4. What is penalty? 

 A£μõu® GßÓõÀ GßÚ? 

5. Define industries disputes act. 

 öuõÈÀ \ºaø\ \mh® Áøμ¯Ö. 

Sub. Code 
7BCO6C3 
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6. What is retrenchment? 

 BmSøÓ¨¦ GßÓõÀ GßÚ? 

7. Define Accident. 

 Â£zx Áøμ¯Ö. 

8. What do you understand by compensation? 

 CÇ¨¥k £ØÔ } AÔÁÚ GßÚ? 

9. Write any two objectives of employees state insurance. 

 FÈ¯ºPÒ ©õ{» Põ¨¥miß ÷|õUP[PÒ CμsiøÚ 
GÊxP. 

10. Who is not eligible for provident fund? 

 Á¸[Põ» øÁ¨¦ {vUS uSv°À»õuÁº ¯õº? 

 Section B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Narrate about the scope of factories act. 

  öuõÈØ\õø» \mhzvß GÀø»PøÍ u¸P. 

Or 

 (b) What are the provisions regarding employment of 
young persons in factories? 

  CÍ® SÇ¢øuPøÍ £o¯©ºzxÁvÀ EÒÍ 
Âv•øÓPÒ GßöÚßÚ? 

12. (a) How to register of trade union? 

  öuõÈØ \[P[PøÍ GÆÁõÖ £vÁx? 

Or 

 (b) List out the purpose of trade union act. 

  öuõÈØ \[P \mhzvß ÷|õUP[PøÍ £mi¯¼kP. 
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13. (a) Examine the causes of strike. 

  ÷Áø» {Özuzvß Põμn[PøÍ Aμõ´P. 

Or 

 (b) What is the penalty for illegal strike? 

  \mhÂ÷μõu©õÚ ÷Áø» {ÖzuzvØPõÚ A£μõu® 
GßÚ? 

14. (a) Bring out the rules regarding Workmen’s 
compensation. 

  öuõÈ»õÍºPÒ CÇ¨¥k öuõhº£õÚ Âv•øÓPÒ 
uõ¸[PÒ. 

Or 

 (b) Analyse the nature of compensation. 

  CÇ¨¥miß ußø©PøÍ Bμõ´P. 

15. (a) Examine the different types of benefits provided by 
the Employees State Insurance Act 1948. 

  FÈ¯ºPÒ ©õ{» Põ¨¥mk \mh® 1948 ß £i 
£À÷ÁÖ ÁøP¯õÚ |ßø©PøÍ B´P. 

Or 

 (b) Evaluate the maximum salary for ESI deduction. 

  ESI ß £i Â»UQØS AvP£m\ \®£Í® ©v¨¤kP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Critically appraise the welfare measures under the 
factories act. 

 öuõÈ»õÍº \mhzvß £i |»ß |hÁiUøPPøÍ 
©v¨¤kP. 
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17. Enunciate the rights and liabilities of registered trade 
union. 

 öuõÈØ\[P[PÎß E›ø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ 
ÂÍUSP. 

18. Discuss the grounds of retrenchment of workers. 

 öuõÈ»õÍºPÒ BmSøÓ¨¤ß Ai¨£øhPÒ ÂÁõv. 

19. Explain the types of compensation. 

 CÇ¨¥miß ÁøPPøÍ  ÂÁ›. 

20. Describe the provisions regarding contribution to the 
provident fund. 

 Á¸[Põ» øÁ¨¦ {v°ß £[PÎ¨¤ØPõÚ Âv•øÓPøÍ 
ÂÁ›UPÄ®. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define the term total income.  

 

2. What is meant by deduction from total income? 

 

3. What is Hindu undivided family? 

 

4. Write any two salient features of a Hindu undivided 
family.  

 

5. Expand CBDT.  

 CBDT  

Sub. Code 
7BCOE2A 
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6. Who assessing officer? 

 

7. Write deductions U/S 80C of the Income Tax Act, 1961.  

 U/S 80C

8. What is Re-Assessment? 

 

9. What is current income? 

 

10. What do you mean by ‘‘Tax deducted at source’’? 

 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Calculate deduction U/S 80-C from the following : 

 Rs. 

Contribution to RPF 15,000 

Contribution towards NSC-VII issue 11,000 

Insurance premium on own life  

(sum assured Rs. 1,50,000) 25,000 

Contribution towards the life of his wife  
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(sum assured Rs. 45,000) 2,500 

 U/S 80-C

 

 RPF 15,000 

NSC-VII 11,000 

 

25,000 

 

2,500 

Or 

 (b) Calculate the amount deductible under section  
80-G. 

                                            Rs. 

  (i) Gross total income  3,00,000 

  (ii) Deduction U/S 80-C to 80-U  
    except sec 80-G  50,000 
  (iii) Donation : 
    (1) PM National Relief fund 30,000 
    (2) Allahabad University-National 
     Eminence   20,000 
    (3) Technology development and 
     Application fund 10,000 
    (4) PM’s drought relief fund 10,000 
    (5) Charitable society 10,000 
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    (6) Family planning 15,000 

    (7) Sports association  20,000 

  80-G  

 

  (i)   3,00,000 

  (ii) U/S 80-C  80-U   
     80-G   50,000 
  (iii)  : 
    (1)  30,000 
    (2)  
      20,000 
    (3)  10,000 
    (4)  10,000 
    (5)  10,000 
    (6)  15,000 
    (7)   20,000 

12. (a) Following are the particulars given by a HUF in its 
income return for the assessment year 2020-21. You 
are required to compute the total income of the 
family and tax liability.  

  Rs. 

(i) Dividend (Gross) 10,000 

(ii) Collection charge of above 200 

(iii) Salary received by a member of 
the family 7,500 

(iv) Business profits of the family  
(after deduction of Rs. 10,000 as 
salary to Karta and Rs. 3,500 
as loan granted to one of the 
relatives in the past which 
became bad during the  
previous year) 80,000 
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(v) Taxable income from house 
property 12,60,000 

 

  

(i) 10,000 

(ii) 200 

(iii) 7,500 

(iv) 

80,000 

(v) 

12,60,000 

Or 

 (b) A HUF with Ramesh as Karta and Suresh and 
Mahesh, his brothers as coparceners, requests you 
to compute the total income of the family for the 
A.Y. 2020-21 from the following details.  

  (i) Interest on tax free Govt securities held out of 
family funds Rs. 7,000 

  (ii) The family owns a house property of 
Municipal value of Rs. 16,000 on which 
Municipal tax was paid Rs. 1,000; ground rent 
Rs. 100, Insurance Rs. 200, house used for 
family residence.  

  (iii) Profit from business managed by Karta on 
behalf of family Rs. 60,000 before deducting 
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salary to Mahesh who worked for business  
Rs. 8,000 

  (iv) Long term capital gain from the sale of shares 
held by Mr. Suresh from his own funds  
Rs. 2,000.  

 HUF 

(i) 

  (ii) 

  (iii) 

  (iv) 

13. (a) List out the powers of Appellate Tribunal.  

 

Or 

 (b) Describe the function of central board of Direct 
taxes.  

  

14. (a) Write short note on best judgement assessment and 
what are the circumstances under which it can be 
made? 
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Or 

 (b) State the provisions of the Act relating to 
reassessment.  

 

15. (a) State the law relating to ‘‘collection of tax at 
source’’.  

 

Or 

 (b) Enumerate the instalments of advance tax along 
with the respective due dates.  

 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. An assessee, who is an individual, received the following 
incomes during the financial year 2019-20 : 

 Rs. 

Business Income 6,80,000 

House property income (computed) 25,000 

LTCG 50,000 

STCG 10,000 

He made the following payments  
for donations during the year 

Rs. 

(a)    National children welfare fund 6,000 

(b)    P.M. National relief fund 7,000 
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(c)    National defence fund 6,000 

(d)    P.M drought relief fund 8,000 

(e)    Local authority to promote family   
         planning 

10,000 

(f)    Public charitable trust (Approved) 1,20,000 

(g)   He paid Rs. 7,000 by cheque to GIC under mediclaim  

 Compute the assessee’s total income.  

 

 

6,80,000 

25,000 

LTCG 50,000 

STCG 10,000 

Rs. 

6,000 

7,000 

6,000 

8,000 

10,000 

1,20,000 

     7,000  

 

17. The following particulars have been submitted by Mr. 
Ram Lal in the capacity of Karta of a Hindu undivided 
family for assessment purposes.  
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(a) Profit from family’s business Rs. 20,000 after 
charging amount of Rs. 3,000 given as salary to 
Karta’s brother who has been actively participating 
in it.  

 (b) Salary income of Karta’s another brother who is a 
manager in a Co-operative Bank Rs. 11,000. 

 (c) Directors fees received by Karta Rs. 5,000 (HUF 
holds 20% shares in this company).  

 (d) Bank interest Rs. 400 (Gross) 

 (e) Long term capital gain from transfer of building  
Rs. 2,800.   

 (f) Long term capital gain from transfer of investments 
Rs. 18,000 

 (g) Donation to a college which is an approved 
institution Rs. 6,000 

 (h) Rental value of the property which is let Rs. 15,000 
Municipal tax paid in respect of the house, Rs. 1,500 
interest on loan taken for repair of the house  
Rs. 1,800.  

  You are required to calculate total income of the 
family for the current assessment year.  

 Mr. 
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18. Discuss about the summery assessment.  

 

19. Describe the circumstances an Ex-Parte assessment be 
made by assessing officer? What are the remedies 
available to the assessee? 

 Ex-Parte assessment 

 

20. Explain the procedure for making claim for refund.  

 

———————— 
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 £Sv A (10  2 = 20) 

AøÚzx ÂÚõUPÐUS® Âøh¯ÎUP. 

1. |ÃÚ A¾Á»P® Gß£x ¯õx? 

2. A¾Á»P ©øÚxøn ö£õ¸mPÎÀ H÷uÝ® Cμsiß 
ö£¯›øÚ GÊxP. 

3. Ag\ÀxøÓ Gß£x ¯õx? 

4. Áõ´ö©õÈ uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

5. £v÷ÁkPÒ Gß£x ¯õøÁ? 

6. öuõhº GÊx¨ö£õ¸Ò Gß£x ¯õx? 

7. A¾Á»P C¯¢vμ® Gß£Ú ¯õøÁ? 

8. umha_ GßÓõÀ GßÚ? 

9. AÔUøP GßÓõÀ GßÚ? 

10. _mh APμõv ÁøμÂ»UPn® u¸P. 

Sub. Code 
7BCO211/7BCC211/

7BCS211 
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 £Sv B  (5  5 = 25) 

AøÚzx ÂÚõUPÐUS® J¸ £UP AÍÂÀ Âøh¯ÎUP. 

11. (A) A¾Á»P ÷©»õsø©°ß •UQ¯zxÁ[PÒ ¯õøÁ? 

(AÀ»x) 

 (B) £o Áøμ¨£hzvß ÷|õUP[PÒ ¯õøÁ? 

12.  (A) Ag\À xøÓ°ß £oPøÍ _¸UP©õP ÂÁ›. 

(AÀ»x) 

  (B) Áõ´ö©õÈ uPÁÀ öuõhº¤ß SøÓ£õkPÒ ¯õøÁ? 

13.  (A) |ÃÚ A¾Á»Pzvß GÊx¨ £oPÎß ußø©PøÍ 

GÊxP. 

(AÀ»x) 

 (B) £iÁ Pmk£õk SÔzv }Âº AÔÁx ¯õx? 

14.  (A) A¾Á»P C¯¢vμ[PÎß H÷uÝ® I¢x ÷uøÁPøÍ 

GÊxP. 

(AÀ»x) 

 (B) Po¨ö£õÔ°ß £¯ß£õkPÒ ¯õx? 

15.  (A) AÔUøP°ß Aø©¨¦•øÓø¯ _¸UP©õP ÂÁ›. 

(AÀ»x) 

 (B) _mh APμõv°ß ÷|õUP[PÒ ¯õøÁ? 
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 £Sv C  (3  10 = 30) 

GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUSU Pmkøμ  

ÁiÂÀ Âøh¯ÎUP.  

16. |ÃÚ A¾Á»Pzvß AßÓõh |hÁiUøPPøÍ ÂÁ›. 

17. u£õÀPøÍ øP¯õÐu¼ß EÒÍ ¤μa\øÚPøÍ ÂÁõv. 

18. £À÷ÁÖ ÷Põ¨¤mk ÁøPPøÍ ÁøP¨£õkzxP. 

19. A¾Á»P C¯¢vμ[PøÍ ÷uº¢öuk¨£uØPõÚ Ai¨£øh 
÷Põm£õkPÒ ¯õøÁ? 

20. _mh APμõv°ß |ßø©PÒ ¯õøÁ? 

———————— 
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PART A 

                                                       ANSWER ALL QUESTIONS                          (10x2= 20) 

1. Identify the Adjective, Noun, Verb and Determiner in the following sentence. 

Careful Owners Wash Their Cars 

2. Identify the morphemes for each of the following words, in the order that they appear in 
the word. 

Components  +  
Elements  +  
 

3. What makes a sound 'distinctive'? 

(A) The whole of the sound must be substituted to make a valid word. 

(B) Changing the sound can make a word recognizably different to a speaker of the language. 

Choose the correct answer. 

A 

B 

Neither A nor B 

Both A and B 

 

4. The communication by a sales representative to customers are; 

Informative 

Authoritative 

Pleasing 

Ushering  

  72BEPC 



Ans:  

5. what is meant by blog? 

6. What is podcasting? 

7. Is ethical speaking characterised as persuasive? Give reason. 

8. Jose gives a speech in which he argues that laws applying to traveling carnivals should not 
be the same as laws applying to amusement parks because the two are clearly different 
entities. What type of claim is Jose making? 

(A) definitional claim 

(B) factual claim 

(C) policy claim 

(D) attitude claim. 

9. What does you infer from this picture? 

 

 

10. Can in workplace “whatsapp” and “sms” be used for communication? 

 

PART – B 

                                      ANSWER ANY FIVE QUESTIONS                            (5×5=25) 

 

1. Following is the advertisement of Colgate toothpaste intruding remarriage which cannot be 
quietly accepted in Indian context. Critically examine the advertisement and give your 
answer. 



 

2. Identify from the expressions of everyone in the image. State its consequences in 
organizations. 

 

3. Prepare a statement for public speech that should persuade others to vote. 

4. Sorry is the term which most of the altruistic people use. Identify a situation that prompts 
you to use the term ‘sorry’ and make a write up for not less than 150 words. 

5. Identify the significance of electronic word of mouth communication for business in the 
current context. 

6. Identify the reasons for creating a blog by business houses.  

7. Perceiving creativity in advertisements differ based on psychological moods. Discuss. 

8. You are a subordinate working under an expatriate Quality Control Manager who hails 
from Germany, you have ensured 100% quality however one found defective as rolled out in 
the market based on the serial number. Now you need to convince him, How. do you make 
assertive statements to convince your superior? 

 

 



PART – C 

                                    ANSWER ANY THREE QUESTIONS                         (3×10=30) 

1. You are elected as a new President for the union which you belong, your union members 
have great expectations on your office as president. Chart out the amiable and realistic 
reforms that would enable the labourers and employer to grow. 

2. You are a man/woman who is disliked by your fellow employees as you are accused in a 
money laundering case in your organization. Years after you are termed as acquitted, 
however people restraint to transact with you, at this juncture you need to make persuasive 
statements to recoup to the original. Draw pertinent persuasive statements that may enable 
you to have a friendly relationship with your colleagues. 

3. Identify the managerial concept ingrained in the following picture and explain its 
significance to effectively run the organization. 

 

 

4. Instructions 

Study the following passage carefully to answer the questions that follow each passage: 

PASSAGE I: 

Chinese Goods sight now make up less than 3% of India's imports and if the figures are right, 

they are growing at no more than 25% a year. So, why is everyone making such a hue and cry 

over the Chinese threat? Aren't Indian Industrialists merely trying to get more tariff 

protection by stoking Xenophobia? Probably some are. But that should not divert attention 

from the main point: China has finally shown up on India's economy road screen and it needs 

to be watched.  



The figures may not yet reflect, but anecdotal evidence points to the fact that China is 

weighing heavily on the minds of the manufacturing industry. Even if you discount all the 

praying and petitioning for protection there is enough indication that increasing number of 

business men are to they are looking of setting up operations in China. In other words, they 

are putting their money where their mouth is: If you are in manufacturing, Industry. Even if 

discount all the praying and petitioning for protection, there is enough indication that 

increasing number of businessmen are today looking at selling up operation in China. In other 

words, they are putting their money where their mouth is: if you are manufacturing if makes 

for more sense to operate out of China than out of India.  

According to newspaper reports. Ajanta the world largest clock maker is shifting its 

manufacturing base tools, stock and travel from Morbi in Gujarat's Saurashtra region to 

Shenzhen in china. Many other Indian companies, from Bajaj electricals to Blow plast are 

looking at options that range from setting up their own operations in China to starting joint 

ventures to out sourcing. What we have seen so far could be just the tip of a bigger trend: 

there are lot more Indian companies central around three fourth of China's exports only one 

fourth of its exports consists of goods made by Chinese owned companies and that store is 

shrinking, according to the wall street journal.  

In other words, China's amazing export performance is due to its ability to sell itself as the 

perfect base for global manufacturing. This puts the issue in a larger context. This is the 

largest term issue that should engage the attention of policy makers, more than the flood of 

imported goods from China.  

It is almost as if focusing on export means lettering down the country, just as rupee 

depreciation, in some quarters is take a man rational emasculation? Focussing on exports will 

mean a lot of things policy makers only need to talk to Indian firms who are checking out 

China to get a laundry list of needs. There is of course, another way of looking at all this 

China competitive advantages lie in its manufacturing towers, India's advantages lie in 

services powered by its highly skilled English speaking man power. It is only natural 

therefore, that even as India in on the way to becoming the global back office for the world, 

China is becoming the global manufacturing base. We believe that this line of thinking is 

misleading. The only thing that prevents India from becoming a global manufacturing base is 

the like of a government that functions the way it should. Meanwhile, here's a piece of advice 

for Indian businessmen. Please do whatever it takes to keep your business alive whether it 

means investing in Shenzhen or outsourcing from Timbuktoo - but do think global. While the 

government gets act together, the country’s search for new business models that skirt around 



existing bottlenecks has to continue. Suehdeep Agarwal's Bhartiya International, India’s top 

leather garments exporter with a turnover of Rs. 200 crores, has been notching up 30% 

growth year after year by outsourcing its requirements from factories all around the world - 

including China. Maybe that's one way to go. 

 

i) The major theme of the passage can be considered as  

A. India’s business relations with China.  

B. a comparison of India’s and China's exports.  

C. the existing anxiety regarding India's manufacturing performances. 

D. India's hopes for manufacturing opportunities in China. 

 

ii) Which one of the following can be accepted as the title for the passage? 

A China's Amazingly successful Export performances 

B competition between India and China for investments 

C A piece of Advice for Indian Businessmen 

D The Chinese Threat to Indian Industrialists. 

 

iii) Which of the following is not correct according to the author? 

A Indian industrialists concentrate more or exports and less on domestic markets. 

B Many Indian companies are not trying to set up their operations in China. 

C Chinese-owned companies made one-fourth of the goods exported. 

D Indian companies do not want to take the risk of setting up in china and exporting to other 

countries. 

 

iv)The author seems to believe that fast growth of industries depends on which one of the 

following factors? 

A Liberalisation  

B Effective demand of the manufactured goods in the country and in foreign markets 

C The domestic market 

D The record-breaking exports 

5. “The world is a great book; one who does not travel reads only one page“. Based on your 
perspective about the phrase give a write up. 

 


